F538[a] = ZER N~ A X — ZKIKFE TR

WA ;20234127100 (H) S CERMSEEAR—Y v Z— T —/1 (25m)
1/3
No.4 B+ 100mBEA A KL —
& 85~89:% > &34 2:03.80
B K4 TR ER R K& B fE #TEcEk
1 iRk IERE 7T 4 1/6 2:20.12
1:06. 09
No.4 BF 100mEBAN A KL —
£ 80~84r% > KR 1:49.47
B K4 FrERR AR 7K & BF Rl #FECER
IR /N V) —ZEFTNSS 1/ 3 2:07.36
1:02.72
2 Kb 2w mHEESC 1/ 2 2:16.80
59. 62
No.4 BF 100mEAN A KL —
L 10~T74% > K@ 1:21.14
IBfI K4 BB K& B M FEcEk
1 K¥ F= ke 1/ 4 1:32.65
43. 98
No.4 B+ 100mBEIA X KL —
£ 65~69m% > K& 1:15.68
B K4 FrERR R K& BF B #rEcEx
1 iR ER FATHT 2/ 3 1:32.30
40. 99
No.4 BF 100mEBANA FL—
& 60~64F% > AL 1:13.89
B K4 B ER R K& B [ FEcEk
1 KE A F—LbvvV 2/ 5 1:30.10
44. 67
2 HAR 48 F— AGCY 2/ 2 1:49.02
54. 85
3 [HEE ¥k A )| 2/ 6 1:50.32
51.37
No.4 BF 100mEAN A KL —
& 55~59F% > KL 1:10.43
B K4 BB R K& B M FEcEk
IS S HRSC 3/ 8 1:19.14
37. 81
2 M2 KFERK HHISC 3/ 3 1:20.20
37. 14
3 Wik &AL HEEA & A 3/ 4 1:21.25
38. 49
4 JEE F—=bv 3/ 5 1:25.02
39. 67
5 PRIk T H. R. C. 3/ 2 1:30.11
43. 61
6 4R " FHSC 3/ 6 1:31.04
45. 85
No.4 BF 100mEBAN A KL —
& 50~b54m > K&i8  1:08.82
B K4 FrERR AR 7K & BF fEl  #TEcExk
1 e e JL e IRYP 4/ 7  1:17.36
36. 46

HAOHME . 12H10H 11:47



F538[a] = ZER N~ A X — ZKIKFE TR

WA ;20234127100 (H) S S ERMSHEBAR—Y ¥ Z—7— 1 (25m)
2/3
No.4 B+ 100mBEA A KL —
& 50~54m > S8 1:08.82
B K4 TR ER R K& B fE #TEcEk
2 5 —i& B 4/ 6 1:18.86
37.80
3 gk JER RN —A 4/ 3  1:18.88
39. 66
4 FH Wk 4/ 2 1:21.73
37. 35
5 HH KE) R A 5/ 6 1:23.79
41. 51
6 T HE—EBR ke 5/ 7 1:28.53
41. 28
TH EiR JL e R 5/ 2 1:28.81
41. 36
8 HE —Kk MY SAExm 4/ 8 1:29.20
41. 07
9 BA Uk TAC 4/ 1 1:33.33
44. 45
10 HAF AL F— AGCY 3/ 7 1:54.15
56. 82
No.4 B+ 100mBEA X KL —
L 45~49m% > x£5 % 1:07.23
B K4 TR E& R K& B fEl #EcEk
1 N A*S-T 5/ 3 1:11.93
34. 16
2 /R TR M -Sc 5/ 4  1:11.95
32. 67
3 AR JRTE A+S-T 5/ 5 1:17.82
33. 40
4 HEEy SR F—Lb 5/ 1 1:30.30 * Tl
41. 42
5 & FEE F—Lb~v 5/ 8 1:35.78
43. 69
No.4 BF 100mEBAN A KL —
L 40~44m% > S8 59. 96
B K4 TR ER R K& B #rEcEk
1 iR W& FATHWT 6/ 2 1:10.82
33.08
2 ) 3 AR OVAV/EIA 6/ 3 1:12.09
33.70
3 ZH  FE A+S-T 6/ 7 1:15.28
34. 40
4 g & A+S-T 6/ 8 1:16.14
35. 49
5 Y4 EA A+S-T 6/ 6 1:17.48
34. 06
6 A FK A+S-T 6/ 1 1:23.28
40. 11
No.4 BF 100mEBAN A KL —
& 35~39m% > &4 1:00. 17
B K4 FrERR R 7K & BF Rl #FECER
1 B ] A=S-T 6/ 4 1:04.74
29. 63

HAOHME . 12H10H 11:47



F538[a] = ZER N~ A X — ZKIKFE TR

WA ;20234127100 (H) S CERMSEEAR—Y v Z— T —/1 (25m)
3/3
No.4 B+ 100mBEA A KL —
& 35~39m% > &34 1:00.17
B K4 TR ER R K& B fE #TEcEk
2 k[ 1EBA FATHT 6/ 5 1:07.63
29. 48
No.4 BF 100mEBAN A KL —
L 30~34m > K& 1:00.44
B K4 FrERR AR 7K & BF Rl #FECER
1 g BEK W—UP 7/ 3 1:06.90
31.77
2 Hil WA A+S-T 7/ 4 1:07.01
30. 73
3 7 MR 7T g 7/ 6 1:11.40
32.58
V=N AN FATHT 7/ 2 1:12.43
33.94
5 A & W—UP 7/ 5 1:13.08
31.97
6 /MR BEAE W—UP 7/ 7 1:15.07
34. 74
7 RBL B A+S-T 7/ 8 1:34.43
43. 49
No.4 BF 100mEBAN A KL —
& 25~29m% > K&i8 58.11
B K4 TR ER R K& B #EcEk
1 FALL WG L A+S-T 8/ 4 1:02.36
28.92
2 JIEOTERER B 8/ 5 1:03.41
29.18
3R HE R =A 8/ 2 1:06.41
30. 99
4 P G B HEA R 8/ 6 1:06.93
31. 11
5 WM & FATHT 8/ 1 1:07.52
29. 83
6 e AR A*S-T 8/ 3 1:08.46
29. 98
TRT AR TAC 8/ 7 1:08.95
30. 42
8 il ERAT = ZEFEFNSS 8/ 8 1:23.95
37. 18

HAOHME . 12H10H 11:47



